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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forG3-1_0

minFVI
minFVO

Warning: col ['minFViraw , 'minFVOraw’ ] is missing

N
o
I

® ETcAlraw ®
——  ETcAl °
| —&— ETcA ®

[ N )
Wartﬂng: col ['ETcA2raw’, 'ETcA2'] is missing ®

0.0 0.2 0.4 0. 0.8 1.
10 1 1 1 1

[=2}

Warning: col ['ETcA2raw’, 'ETcA2avg’, 'ETcA2’] missing

0.0

ECopt
ECC
ECI
ECO

4500

tte¢

4000 -

1
3500 - 1
1
1
1
1

3000 —
N, : '
2000 - AoNo— — :

2 T X

1500 ~

i 1
10 ]
1
1
1
9 - : —@— PHopt

| —®—  PHC

: —8— PHI

I —@— PHO
8 - 1
1
1
1
1
1
71 1
:::: . :=: . 1

1 1 . 1 1
31.5 1 : —@— WCperM

1
1
31.0 - i
1
1
1
30. 5 A 1
1
1

30.0 -Hﬂ%%—.—.—.ﬂﬂﬂ%—.—.—ﬁ.—.—*—.—.—.—mﬂﬂ%ﬂw

29.5

29.0
Warning: col [ WCperMraw', 'WCperMavg'] is missing
28.5

—@— minDeltaM
—@— avgDeltaM
—@— stdDeltaM

1
1
0. 25 1 :
1
1
0.20 —0—0—0—0—C—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—
1
1 1 . 1 1
30 -HHFFFFF.—O—O—O—.—.—H—.—.—Q—.W**—Q—.—.—.HI B I

: —@—  maxM

98 : —@— minM
1
1
1
i 1
26 I
1
24 t
1
1
1
22 4 :
1
1
1

20 9)—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—0—00000000000 0000000000000 000000

: ad JFVOR
0. 04 1 :
1
1
1
0.02 :
1
1
0. 00 1
1
1
1
-0. 02 - :
1
1
1
0. 04 1 Warning: col [ adjFVIRraw , "adjFVIR', "adjFVORraw ] is missing :
1
1
1 1 . 1 1

* : ® FRA

0.70 : ® FRC
1

0. 65 - ! — R
® o o0 : ([ ) :
® 1
1
. 1
) e 0o oo ® o O !

®
To.ooooooooooooooooc

300 +
o postFgEtraw

—0— postFgEtavg
250 1 —@— postFgEt

200 -
150 -
100

50 A




FgDai ly

(=)
<
p




¥

T
§ o\
[
- =
M/ :
SV * —
/| 7N ~
N A / \ Vo A
VA N N // Vi
\/ e \ / °
d ~N ¥ i
: AP [\/ \ f"‘_.‘_\./‘
|8 RAVAR VY
\/ 7\ [V
\¥/
M TV e
N A VNV
\\// M \\ // \\ //
A =
R f o\ |
A I [
J/ VAN N A V\’\/\V/
o Eremm fg'é\ /M




ESo ETclis ETcPT ETcP ETcldef ETcl

T PPFD | VN pVPD pR  ETbai ETol

RH

1 1 | 1
ETcl ETcldef ETcP ETcPT ETclis ESo ETol ETbai  pR pVPD VN |

PPFD

T

1.0

0.8

0.6

0.4

-0.2



ETol

VN

) ° o °
1500 - - % i 9,'0 _ o i - ° e
1250 - . . . .
° ° ° °
1000 - . : . :
° ° ° °
750 - Te o & ° 1 °* ¢ e 1 & ° : o
° ° ° °
i i ® o ] oo i o | ° °
500 ° ° ° °
[ [ ® [ ] )
250 - N °© ey ] o0 o o | o le e © oo
' °® ad %o
... e go () ® e 0 9 ° [ ] (eg O. e 90
0 - ™ T T T T B T T T B T T T B T T T
2000 A 1 ° i ° 1 ° i °
o ® o o ® ° e
1800 - - o T e 1 %, e - ®e o ] Ly
° ° 9 9% ® o o ® ° ° °®
® ® ® oo © ® . D
1400 . ®e¢ _ o o4 ]l o@® i °o®
° PY L N oo © @
1200 + - P R ° - P R
° » ° °
1000 4 1°, ° 1 ® . 18 ° 1 . °
800 - . : . :
° ° ° °
600 E [ X ) E ® () 4 ® {® o
26 @ . ° . {1 e . . °
241 o ..o ° i ° o. Go ] '.o.. ° ] : ° ® ® o. e
o ® o ® @ o ° ® ° o °
° o, e ¢° °® L ° ° °
ol e «® % o ° e ° : “
. ® . ® . ® . ° . °
) ° ®e o ° o %o o® ° %o °
.° o ¢ e ® e J ¢ N ¢ o o ©
0l ® 8 ° 1® e o | ® o o ° | °e ° ] * e
* ° * ° ° * * ° * °
) ° ° ) °
.. (] .. (] .O ) % [ ] ) ° [ ]
18_I T T T B T T T B T T T _I T T T B T T T
85 1 ° 1e 7 ° T 1 e 1e
80 - . . . . .
® o e e ®e o ®
75 - : . : . :
704 @ 4 ° 1 e 4 °
o
o
65 - e ® T ® 0 1.0 ® 7 ® o0
e e o é o & ° * ¢° oo % e°
0] %% ®e° ° FOO o ® [ o o003 ® ] © o 00,
° ... ([ J ° .‘ .‘. o ( o 0 ([ J
5541 % ® o © i o™ © i 0o ,° o, i c o ©°
e o . o0 . ° o. ° 'YX .
50 T T T T T T T T T T T T T T T
1750 4 () - () 1 () - ()
1500 + B E B
° ° ° °
1250 4 B E B
° ° ° °
1000 + B E B
750 - e Qo . ° 00,0, - ° ° e © ° . ° ¢ Qe
500_ . -1 . -1 . . .
o ° ° . °® e o
250 1 qo%°® 1 ® o %0 © T ©®q o 1® & o o°
0-@" 1° o0 °° °, o o °® 1®° o 5
T T T T T T T T T T T T T T T
o ° °
4001 9 e ge ° 1 . °s% o e® ° *% 1
o © %o gﬁ; o° LY P
350_ ‘.. o ® ] ) ([ J [ ] T .. ® .. ]
®ego de ° ° o0 o o
3001 o o0 ° i S e o0 le © J « i
250 - : . : . :
200 o - o 1o - o 1e 1
° ° ° ° °
150 4 (Y o o i o o | ° e | oo |
T T T T T T T T T T T T T T T T T T T
0 500 1000 1500 1000 1500 2000 18 20 22 24 26 50 60 70 80 0 500 1000 1500 200 300 400

ETcl ETol T RH VN |



® obs
2000 - Fit
o
1500
([
)
1000
U
500 A b
..
y )
[
0_
0 50 100 150
baiA baiB
0. 8242 0.0177
1.0
0.8 4
0.6 -
0.4 4
0.2+
00 T T T T
0.0 0.2 0.4 0.6 0.8 1.

obs

1750 ~

1500 ~

1250 A

1000 ~

750 -

500 -

250 ~

o

Fit vs obs: a=1.11,

[ J
0 .r
pe®
[ ]

b=-99. 46,

r=0.85

1.0

200

400

600
Fit

800

1000

1200

0.8 -

0.6 1

0.4 -

0.2 -

0.0

0.0

0.2

0.4

0.6

0.8

1.

0



hour

100

80

- 60

- 40

’%
@ i
‘*@»
N
@
N
G%ﬁg
/&@(
A
2y
&R (1] [ [

T

R
2 P



G3-1

B | GEBRK @) | ERE(EA/M | BREE (/R | XS R

07:20 226 120.0 2.592 5| THAe07:20 KREFEF (RAERES)
07:55 226 120.0 2.592 =|  FiHR@07:55 KREIEFE (GREERSE)
08:55 226 120.0 2. 592 5| FHAe08:55 KENFEF (RAfEEE)
09:40 226 120.0 2.592 5| THAe09:40 KREFEF (RAERES)
10:20 226 120.0 2.592 = FiHR@10:20 REIEF (GREERSE)
11:00 226 120.0 2.592 S| FiHRe11:00 REIEF CGREERSE)
11:35 226 120.0 2.592 5| FiHRe11:35 REHEFE (REAERSE)
12:10 226 120.0 2.592 5| FHERe12:10 KENEF CGRAEES)
12:45 226 120.0 2. 592 5| FHAe12:45 KEIEFE CGRAFESE)
13:20 226 120.0 2.592 5| FHAe13:20 KEIEF CGRAEESE)
13:55 226 120.0 2.592 5| FiHje13:55 REEESF (REERSE)
14:30 226 120.0 2. 592 5| FEAe14:30 KEIEFE CGRAMFESE)
15:10 226 120.0 2.592 5| FiHRe15:10 RHBF (GREAERSE)
15:50 226 120.0 2.592 5|  THAe15:50 KRHEF CRAERS)
16:40 226 120.0 2.592 5| THA@16:40 KREIFERF (RATREE)
2t 3390.0 (15%) 1800. 0 3 UHKEC: 2500.0, PH: 6.5

REXRERIPH (10.34) 5i8EPH (6.5) IREW K, BT
FEREPH (10.34) 5FPH (6.5 REKK, FHE
[Bl;&KEC 4278.0 K5, EiFHKECAE&IREER

#H[EKECE (2677.0 vs 4278.0) RS




FRV (ml plant-1)

ET (ml/hr/plant)

G3-1_0, Day=29 (2025-06-10)
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G3-1

BfE) | GEBERTIC (7)) | ERE (EAH/#F) | EREE (B/R) | X8 R

08:00 226 120.0 2.592 (Z=| {Ri%@08:00 Bzh (FAEESE)
08:50 226 120.0 2.592 |2 =| {Ri%e08:50 Bz (KREAEZHE)
10:30 226 120.0 2.592 |Z=| 1BRi%e10:30 Bzl (GRAERE)
11:20 226 120.0 2.592 |Z=| {Ri&e11:20 Bz (GREERSE)
12:25 226 120.0 2.592 |Z=| {Rige12:25 Bz (REAEZEBE)
13:25 226 120.0 2.592 |/hfE| {Ri&e13:25 Bz (REEZEBE)
14:05 226 120.0 2. 592 FA| {Ri%@14:05 Bzl (GRAEEE)
14:50 226 120.0 2.592 FA| {Ri%@14:50 Bz (GRAERE)
16:10 226 120.0 2.592 |Z=| {Ri&e16:10 Bz (REEZEBE)
21t 2034.0 (97%) 1080. 0 32 3KEC: 2500.0, PH: 6.5

large discrepency for begining water status (90:219.0), set to 90 ml.
RERSERIPH (10.36) 5i8EPH (6.5 REK K, BHHRE

REXFEBIPH (10.36) 5FMPH (6.5) RERK, EHRE

[Bl/&REC 4658.0 K&, ZiNFAIRECAE RN IEER

BE[EIRECE (2753. 0 vs 4658.0) 535

EXRGEBPH (10.4) 5% EE (6.5) REKK, BRE.

ERGEBIPH (10.4) S5iREEY (6.5) REK K, BHRE.
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cumET (ml/plant)

cumET (ml/plant)



m=395, FV0=0 m=435, FV0=0 m=585, FV0=0

—— ME 36 - —— ME —&— ME
32 i
34
30 - 34 N
32
28 39
30
26 30 -
28
24 28
26
22
26 -
T T T T T T T T T 24 ] T T T
600 800 1000 395 400 405 455 460 465 585 590 595
m=665,m FV0=0 m=715,m FV0=0 m=780,m FV0=0 m=830,m FV0=0
38
- UF 36 - - ME —o— IE 38 - —— ME
36 -
34 1 36
34 -
321 34 -
32 -
30
32
30 -
28
30
T T T T T 28 L T T T T T T
670 675 715 720 725 780 785 790 830 835 840
m=870,m FV0=0 m=915,m FV0=0 m=965,m FV0=0 m=1030m FVO=0
40 40 -
—— ME —o— ME —o— ME —o— ME
38 28 .
36
36 - 36 4
34
34 - 34
875 880 915 920 925 965 970 975 1030 1035 1040
m m=395,m FV0=0 m=455,m FV0=0 m=585,m FV0=0
24.75 4 —@— MW 27.04 —@— MW - MW
24. 50 -
50 26, 5 - 27.0
24. 25
26. 0 26. 5
24.00
25.5 -
23. 75 26. 0 -
23. 50 - 25.0 1
600 800 1000 395 400 405 455 460 465 585 590 595



27.

27.

26.

26.

30.

30.

29.

29.

28.

m=665, FV0=0 m=715, FV0=0
—— MW —— MW
5 - 28.5 -
28.0
0_
27.5 1
5_
27.0
0_
T T T 265 T T T
665 670 675 715 720 725
m=870,m FV0=0 m=915,m FV0=0
—o— MW 31.5 - —o— MW
5_
31.0
0_
30. 5
5_
30. 0
0_
29.5 +
5 T T T T T
870 875 880 915 920 925

29.

28.

28.

27.

27.

32.

31.

31.

30.

30.

m=780, FV0=0

—0— MW

T
780

7é5 7é0
m=965,n FV0=0

—— MW

T
965

T
970 975

30.

29.

29.

28.

28.

32.

32.

31.

31.

30.

m=830, FV0=0

—0—

MW

T
830

835
m=1030m FV0=0

T
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—o— MW

T
1030

T
1035

T
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G3-1

BrE) | GEBAKE) | ERE(EH/AR) | EREE (G/R) [ XS R

06:05 145 120.0 2.592 F|  {Ri%006:05 Hah (RF{ESE
06:40 145 120.0 2.592 5| 1RiR06:40 Bz (KREAEESE)
07:20 145 120.0 2.592 S| {Rig@07:20 B (KRAERSE)
08:15 145 120.0 2.592 E  BRi%e08:15 Bzl (RAERRE)
09:05 145 120.0 2.592 F[ BR1%e09:05 BE1 (RAERE)
09:55 145 120.0 2.592 = {Ri%@09:55 B (RAERSE)
10:40 145 120.0 2.592 E BRi%e10:40 Bz CGRAERESE)
11:15 145 120.0 2.592 | {Ri%e11:15 Bz (REBERSR)
12:00 145 120.0 2.592 =l RRiB012:00 B (REAEEE)
12:45 145 120.0 2.592 E BRige12:45 Bz CGRAERESE)
13:20 145 120.0 2.592 5| {Ri%e13:20 B3 (RAERSE)
13:50 145 120.0 2.592 = RRiB013:50 B (RFAEESE)
14:25 145 120.0 2.592 E BRige14:25 Bz (GRAEREE)
15:00 145 120.0 2.592 5| {Ri%e15:00 B3 (RAERSE)
15:35 145 120.0 2.592 = RRiB@15:35 B (RFAEESE)
16:15 145 120.0 2.592 = RRiBe16:15 Bz (REAKEE)
16:55 145 120.0 2.592 El 1BRi&e16:55 Bzl CGRAEREE)
2it] 2465.0 (170%) 2040.0 EWHKEC: 2500.0, PH: 6.5

R ER N (0.49 vs 0.56), FIALH % MRS S EE RN KERE

ERIASSPRIERL124.0 ml.

REXEBIPH (10.53) H5i&%EPH (6.4) RER KA, HFHE
RERIERIPH (10.53) 5FMIPH (6.5 REKK, ERE
[E;%EC 4535.0 K75, HEILFARECAE&MER
#[ERECE (2752. 0 vs 4535.0) id 5
LRGEBPH (10.4) 5igEE (6.5) REKK, BHRE.
ERGEBPH (10.4) SHERIEIY (6.5 REKK, BHRE.




G3-1_0, Day=27 (2025-06-08)
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1350 1318 - 1500 %
i L 1000 =
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L 500
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0.6 -
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0.2 -
Warning: lcol ["WC1',  "WC2'] missing
3000
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2800 4 ® ECC
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0.2 -
0.0
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m=405, FV0=0 m=440, FV0=0 m=500, FV0=0

30 30
- ME —o— ME —&— ME
26 -
28 - 28 -
24
26 26 -
22
24 - 24 7
20 -
22 4 22
T T T T T T T T T T T T T
400 600 800 1000 405 410 415 440 445 450 500 505 510
m=555,m FV0=0 m=610,m FV0=0 m=655,m FV0=0 m=690,m FV0=0
—o— ME —— ME 26 - ME —— ME
28 26 26 -
24
26 - 24 24
24 29 22 1 29 |
22 20 - 207 20 -
T T T T T T T T T T T T
555 560 565 610 615 620 655 660 665 690 695 700
m=730,m FV0=0 m=760,m FV0=0 m=790,m FV0=0 m=820,m FV0=0
30
28 - —o— ME —— ME - ME ” —— ME
25 - 30 -
26 -
30 -
26 28 -
24
28 -
26
22 _ 24 T
24 207
20 - 22 1
2 24
730 735 740 760 765 770 790 795 800 820 825 830
m=850,m FV0=0 m=880,m FV0=0 m=910,m FV0=0 m=940,m FV0=0
341 —e— WE 34 —e— ME il —e— WNE 24 —— MNE
32 i
| 32 32 1
30 -
30 -
30 - 30 1
28 -
28 -
28 28
26 -
26
850 855 860 880 885 890 910 915 920 940 945 950



m=970, FV0=0 m=1000, FV0=0 m=1030, FV0=0

36
- ME —o— ME —6— ME
34
34
34
32 4
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32 1
30 4
30 1
30
28
28 1
T T T T T T T T T T T T T
970 975 980 1000 1005 1010 1030 1035 1040 400 600 800 1000
m=405,m FV0=0 m=440,m FV0=0 m=500,m FV0=0 m=555,m FV0=0
2090 oy y R— 2241 oy 2261 oy
21.8 -
22.3 - 22.5 -
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21.6 - 22.2 - 22.4 -
20. 80 - 22.1 - 22.3 -
21.4 -
22.0 - 22.2 -
20. 75 21 2
21.9 - 22.1 -
20. 70 - 21.0 - 21.8 - 22.0 -
T T T T T T T T T T T T
405 410 415 440 445 450 500 505 510 555 560 565
m=610,m FV0=0 m=655,m FV0=0 m=690,m FV0=0 m=730,m FV0=0
2241 o 2221 o 2231 o wy T
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22.1 -
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610 615 620 655 660 665 690 695 700 730 735 740
m=760,m FV0=0 m=790,m FV0=0 m=820,m FV0=0 m=850,m FV0=0
23.75 4 —@— MW 05 01 —@— MW 26.007 o ww 26.50 4 ~@— MW
25. 75 -
23. 50 - 26. 25 -
25. 50 -
23. 25 24.5 1 26. 00
25. 25 -
25. 75 -
23. 00 - ’5 00
24.0 - ' 25. 50 -
22.75 - 24.75 -
25. 25 -
22.50 - 23.5 - 24. 50 -
760 765 770 790 795 800 820 825 830 850 855 860



27.0 -

26.5 -

26.0
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29.0 A

28.5 -

28.0 -

27.5 A

m=880, FV0=0

—— MW

T
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T
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T T
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26.5 -
T T T
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G3-1

BriE) | GEBAK @) | ERE(EH/R | EREE (F/R) [ XS SRR

06:05 145 120.0 2.592 5| 1RiR006:05 Bz (KRFEAEES)
06:45 145 120.0 2.592 | 1Ri%e06:45 B (RERESE)
07:30 145 120.0 2.592 E 1BRi&e07:30 Bz (GRAERSE)
08:30 145 120.0 2.592 5| {Ri%@08:30 Bz (FAMERSE)
09:25 145 120.0 2.592 = RRiB009:25 B (RFAEEE)
10:15 145 120.0 2.592 =l RRiB010:15 Bzh (REAEEE)
11:00 145 120.0 2.592 S {Ri%e11:00 Bz (GRAERSE)
11:40 145 120.0 2.592 =l {Rige11:40 B3 (RAERSE)
12:30 145 120.0 2.592 =l RRiB012:30 B (REAKEE)
13:15 145 120.0 2.592 E| {Rige13:15 Bah (RE{ERSE)
13:45 145 120.0 2.592 E BRige13:45 Bz CGRAERSE)
14:25 145 120.0 2.592 =l RRiB014:25 Bz (REAKESE)
15:00 145 120.0 2.592 E BRi%e15:00 Bz (GRAERERE)
15:40 145 120.0 2.592 F BRige15:40 Bz CGRAERESE)
16:20 145 120.0 2.592 =l RRiB016:20 B (REAKEE)
17:05 145 120.0 2.592 El BRige17:05 Bz (GRAERESE)
2it] 2320.0 (167%) 1920.0 3203 KEC: 2500.0, PH: 6.4

EORGERBTC R IR AR B E I (145 vs 222.0))

ZRIASLPRIERETS. 0 ml.

BEXRERLPH (10.46) 5i8EPH (6.3) REW K, HRE
RERERIPH (10.46) 5FMIPH (6.5) REK K, HRE
[E]/&KEC 3920.0 K&, EILFAKECAE&iMIEER
HEERECE (2743.0 vs 3920.0) RS
LOREBREC (2705.0) SHEREY (2340.0) REKRK, BFHRE,
LORGEBIPH (10.5) 5i&EE (6.4) RERK, BFHRE.
ERGEBPH (10.5) SRR (6.4) REKK, BRE.




FRV (ml plant-1)

3200 A

3000

2800 -

2600

2400 -

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

G3-1_0, Day=26 (2025-06-07)
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Warning: lcol ["WC1',  "WC2'] missing
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FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=345, FV0=0 m=405, FV0=0 m=460, FV0=0

—o— ME —e— ME —8— ME 96 —— ME
18 1 24
24
16 22 1
22
14 - 201
20
18
T T T T T T T T T T T T T
400 600 800 1000 345 350 355 405 410 415 460 465 470
m=515,m FV0=0 m=575,m FV0=0 m=620,m FV0=0 m=675,m FV0=0
26
—— ME —— ME —o— ME —— ME
26 - 26 1
24
24 1 24 1
22
29 22
20
20 - 20 4
18 1
T T T T T T T T T T T T
515 520 525 575 580 585 620 625 630 675 680 685
m=725,m FV0=0 m=785,m FV0=0 m=825,m FV0=0 m=860,m FV0=0
24
—— ME —— ME —o— ME 26 - —— ME
9y 24 -
24
22 -
20
22
20 -
18 1
20
18
T T T 16 - T T T T T T T T T
725 730 735 785 790 795 825 830 835 860 865 870
m=890,m FV0=0 m=930,m FV0=0 m=970,m FV0=0 m=1010m FVO=0
—o— ME —— ME 28 1 —e— ME —— ME
28
27
26 -
26
26
24 -
24
25
22 -
22
24
890 895 900 930 935 940 970 975 980 1010 1015 1020



17.

17.

17.

17.

17.

17.

16.

19.

19.

19.

19.

18.

19.

19.

19.

18.

18.

18.

18.

m=1050, FV0=0

30 —o— MNE
28
26 |
24
T T T
1050 1055 1060
m=460,m FV0=0
5T —o— MW
4 -
3 -
2 -
1 -
0 -
9 -
T T T
460 465 470
m=675,m FV0=0
37 —o— MW
2 -
1 -
0 .
9 -
675 680 685
m=860,m FV0=0
27 —o— MW
‘I -
0 -
9 -
8 .
7 -
6 -

860 865 870

—— MW
22 -
20 -
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T T T T
400 600 800 1000
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8.4 o
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18.2 -
18.1 -
18.0 -
17.9 -
17.8 -
T T T
515 520 525
m=725,m FV0=0
18. 90
18. 85
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18. 75
18. 70 o= MW
725 730 735
m=890,m FV0=0
—— MW
20.0 -
19.8 -
19.6 -
19.4 -

890 895 900

m=345, FV0=0

17.

16.

16.

15.5

—— MW

i

3%0 3%5
m=575,n FV0=0

18.

18.

18.

18.

18.

18.

M_W

5é0 5é5
m=785,n FV0=0

18. 50

18. 45 ~

18. 40

18. 35

18. 30 A

M_W

750 7é5
m=930,n FV0=0

785

21.0

20. 8 -

20. 6 -

20. 4

20. 2

—— MW

\

930 935 940

m=405, FV0=0
16. 50 - MW
16. 48
16. 46 -
16. 44 -
16. 42 -
16. 40
T T T
405 410 415
m=620,m FV0=0
19. 4 - - MW
19. 3 4
19. 2 A
19.1 4
19.0 A
18.9 A
T T T
620 625 630
m=825,m FV0=0
18.6 - MW
18. 9 4
18. 4 4
18. 3 A
18. 2 4
825 830 835
m=970,m FV0=0
-o— MW
21.6 -
21.4 -
21.2 A
21.0 A
970 975 980




m=1010, FV0O=0

22.4 —— MW
22.2
22.0
21.8
21.6
10H0 1615 10&0

23. 4 4

23.2 A

23.0 A

22.8 A

22.6

22.4 -
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T
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T
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G3-1

BriE) | GEBAK @) | ERE(EH/R | EREE (F/R) [ XS SRR

06:30 143 120.0 2.592 5| {Ri%@06:30 Bz (FAERSE)
07:10 143 120.0 2.592 = RRiB007:10 Bz (RFAEEE)
08:10 143 120.0 2.592 E BRi&e08:10 Bzl (RAERE)
09:00 143 120.0 2.592 =l {Ri%@09:00 B3 (RFAERSE)
09:55 143 120.0 2.592 = {RRiB009:55 B (RFAEEE)
10:45 143 120.0 2.592 = RRiB010:45 Bz (REAKEE)
11:20 143 120.0 2.592 =l RiB011:20 B3 (REAEESE)
12:10 143 120.0 2.592 =l {Rige12:10 B3 (RAERSE)
12:55 143 120.0 2.592 = RRiBe12:55 B (REAKEE)
13:30 143 120.0 2.592 E| {Rig@13:30 B3h (RE{ERSE)
14:05 143 120.0 2.592 E BRige14:05 Bz CGRAERESE)
14:45 143 120.0 2.592 = RiB014:45 Bz (REAKEEE)
15:20 143 120.0 2.592 E BRige15:20 Bz (GRAERERE)
15:55 143 120.0 2.592 =| Fzhe15:55 Bzh (RAEESE)
16:35 143 120.0 2.592 = RRiB016:35 B (RFAKEE)
17:25 143 120.0 2.592 E BRige17:25 Bz (GRAERESE)
Bit] 2288.0 (167%) 1920.0 32 3KEC: 2500.0, PH: 6.3

LRGEB TR IR FER 2N (300 vs 222.0))

BRIALPRIERE162.0 ml.

REFREERIPH (10.5) 5i&EPH (6.4) REKK, FHRE
REXRJERIPH (10.5) 5FMPH (6.5 REK K, HFHRE
LRGEBREC (2844.0) S51EENEY (2340.0) RERK, HHRE.
LORGEBIPH (10.4) 5i&EE (6.3) RERKK, BRE.
LOREBIPH (10.4) S5#REIEN (6.3) RERK, BHRE.



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

G3-1_0, Day=25 (2025-06—06)

_____________________________________________________________________________________ F 3000
1001 V1. VO.FRV,ET — VI, VO, FVI, FVO, FRV, ad jFRV, ET 254451
- 2000 1
547 °
£
50 _
35 755 - 1000 2
440 48 : : I -
Warning: col ['FVI', "FVO'] missing
5
N E o
Vi - —— ME @30
1000 - FRV — maxM |
F20 _I
500 +
- 15
[ M B A e e e e e w S wm n w w n wn e  n w w m  e  n n w— m  w—_— —_—_—_— ._10
1.0
4
0.8 4
0.6
0.4+
0.2 A
Warning: [col ['WC1',  "WC2’'] missing
0.0
3200 | optECO=1800. 0, setECB=2500.0 —>—  EcBx10% [
o ECC
3000 - 3 > > > > > > <
® ( () ([ ]
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